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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you understand by Industrial Relations ? 

Explain the evolution of IR in India.  

vkS|ksfxd lEcU/kksa ls vki D;k le>rs gSa \ Hkkjr esa 

vkS|ksfxd lEcU/kksa dh Øekxr fodkl dk o.kZu dhft,A  

2. Explain Trade Union Movement in India.  

Hkkjr esa O;kikj la?k vkUnksyu dk o.kZu dhft,A  

3. What is Conflict ? Explain the conflict settlement 

machinery.   

fojks/kkHkkl@}U} D;k gS \ fojks/kkHkkl@}U} lqy>kus dh 

iz.kkyh dk o.kZu dhft,A  

4. How labour welfare and education contributes in 

Industrial Relations ? Discuss the concept of worker’s 

participation in management.  

Jfed dY;k.k rFkk f’k{kk fdl izdkj vkS|ksfxd lEcU/kksa esa 

;ksxnku djrs gSa \ izcU/k esa Jfedksa@dfeZdksa dh Hkkxhnkjh 

dh vo/kkj.kk ij ppkZ dhft,A  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

Briefly discuss any four (04) of the following : 

fuEufyf[kr esa ls fdUgha pkj ¼04½ ij la{ksi esa ppkZ dhft, % 

1. Briefly explain the problems of Trade Union in India.  

Hkkjr esa O;kikj la?k dh leL;kvksa dk o.kZu dhft,A  

2. Explain the concept of Bipartite and Tripartite Bodies.  

f}i{kh; rFkk f=i{kh; ra= dh ladYiukvksa dk o.kZu dhft,A  

3. Discuss the arbitration concept with its advantages.   

e/;LFkrk ladYiuk ij mlds ykHkksa lfgr ppkZ dhft,A  

4. What is code of discipline ? Explain chief features of 

the code.  

vuq’kklu fu;ekoyh@dksM D;k gS \ bldh izeq[k fo’ks”krk,¡ 

le>kb,A  

5. What do you understand by Trade Union  

Rivalry ? What measures can be taken to resolve it ? 

O;kikj la?k izfr}U} ls vki D;k le>rs gSa \ buds lek/kku 

ds fy, D;k dne mBk;s tk ldrs gSa \ 

6. What do you understand by Industrial Disputes ? What 

are the reasons of disputes in an organisation ? 

vkS|ksfxd fooknksa ls vki D;k le>rs gSa \ fdlh laxBu esa 

fooknksa ds D;k dkj.k gks ldrs gSa \ 
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7. Explain the various types of strikes. 

gM+rky@/kjus ds fofHkUu izdkjksa dks le>kb,A  

8. How job analysis can contribute in attaining industrial 

peace ?  

vkS|ksfxd ‘kkfUr izkfIr eas dk;Z fo’ys”k.k fdl izdkj ;ksxnku 

dj ldrk gS \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following : 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k, % 

1. Job description, job specifications and job evaluation 

are three components of job analysis. (True/False) 

dk;Z fooj.k] dk;Z fofunsZ’k rFkk dk;Z vkdyu] dk;Z 

fo’ys”k.k ds rhu vax gSaA   ¼lR;@vlR;½ 

2. Attrition rate of the organisation also indicates the 

industrial relation states of the organisation.  

     (True/False) 

laxBu dk la?k”kZ.k nj ¼,Vjh’ku jsV½ mlds vkS|ksfxd 

lEcU/kksa ds Lrj dks Hkh n’kkZrk gSA  ¼lR;@vlR;½ 
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3. Three pillars of industrial relation are management, 

workers and government. (True/False) 

izcU/ku] etnwj rFkk ljdkj vkS|ksfxd lEcU/kksa ds rhu LrEHk 

gSaA    ¼lR;@vlR;½ 

4. Worker’s participation in management also termed as 

industrial democracy at work.  (True/False) 

izcU/ku esa dkfeZdksa@Jfedksa dh Hkkxhnkjh dks dk;Z esa 

vkS|ksfxd yksdra= Hkh dgk tkrk gSA  ¼lR;@vlR;½ 

5. The Indian Labour Conference (ILC) and Standing 

Labour Committee are the example of bipartite bodies.  

     (True/False) 

Hkkjrh; Je lEesyu rFkk LVsÇ.Mx ¼LFkk;h½ Je lfefr 

f}i{kh; ra= dk mnkgj.k gSA   ¼lR;@vlR;½ 

6. Adjudication involves intervention in dispute by third 

party appointed by the government for the purpose of 

deciding the nature of the final settlement. (True/False) 

U;kf;d fu.kZ; ds vUrxZr ljdkj }kjk fu;qDr rhljs i{k dh 

e/;LFkrk ls vfUre fu.kZ; ds Lo:i dks r; djus dk mís’; 

fufgr gksrk gSA   ¼lR;@vlR;½ 

7. Three tier system of adjudication consists Labour 

Courts, Industrial Tribunals and National Tribunals.  

     (True/False) 

U;kf;d fu.kZ; dh rhu Lrjh; iz.kkyh esa Je U;k;y;] 

vkS|ksfxd U;k;f/kdj.k rFkk jk”Vªh; U;k;kf/kdj.k vkrs gSaA  

    ¼lR;@vlR;½ 
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8. Enterprise related, social, global etc. factor does affect 

industrial relations. (True/False) 

m|e lEcU/kh] lkekftd] oSf’od vkfn dkjd vkS|ksfxd 

lEcU/kksa dks izHkkfor djrs gSaA   ¼lR;@vlR;½ 

9. Attainment of industrial peace is the basic objective of 

Industrial Relations. (True/False)  

vkS|ksfxd lEcU/kksa dk ewyHkwr mís’; vkS|ksfxd ‘kkfUr gSA  

    ¼lR;@vlR;½ 

10. To avoid violence and damage to property, lockout by 

the employer is legal action. (True/False) 

fgalk rFkk lEifŸk ds uqdlku dks cpkus gsrq fu;ksDrk }kjk 

rkykcUnh ¼ykWd&vkmV½ dkuwuh dk;Zokgh gSA ¼lR;@vlR;½ 
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